OB AR E B ® FE i SERTIT T - AU LR  PEAT LR R4 12 1 H B
........................... e = S =S < SISO ISISHI: 4 O Vo | SRt = PO < RSSO NSRS 8. W= =SAi < NS IS SO SHSTN: 4 O Vo = SISO RSHSSOo: 1 e 1o W, S - SRS Nt
TR
T EFT e H B3 o
TEL FAX Fll &4t
) i ¥ o K T L gl B O H = H & H %@ﬂﬁ%ﬁ%ﬁ
9 iR 58 5 4 Mo B | AR | BReeiE 4 Mo H | AR | BReeiE 4 BB | AR | BRoeIE 4 e ¥ | PAKRcE | BRSO IRIER TR B | BmiAKo
KK ®m b 3,600 x ®i 1 2,550 x #ig 2,050 x #i 850 A A 150
wIA O M 5,200 K & fl 50 H im A K#E 200
T LR W S A 750 % - i A 50 A %
15,450  /IEF 9,550 2N i1 2,550 7 32,050 /I i 950 f/ &t 350
5 R 72 5 4 Mo | InARCR | BRGEIE4 | F AR Bk | PhAKOk | BGEIE4 Mo | InARck | BEiE4 oA Bk | YoAKC | TR | RGEIE 4 | R Bk | ImAKK
ge %€ g Ui 6,500  |de g grib o 2,450] & T 900| % g ogri 250 1H  FRLISEGLi 250
A =iai 1,800 ot N
T 12,150  /hEf 8,300 /N 212,450 /N 2| 900 /N z 250 1N i 250
O | HETAHERTEIE 4 BB | PriAB | RGeS 4 BB | AR | RGeS 4 BB | AR | RGeS 4 | Priassx | i gaim WRFEIG4 | R B | IrAkoR
ORI 1,850 B i 600 B 5 250 5 Wi 150 H fx'ui £ I 100
SRR R TTE ) 2,600 i i 550 i i 300 1] wmi 250 H i8] H (LD 50
6,700  /hEF 4,450 /N =t 1,150 /N =t 550 /N 400 g/b =t 150
7 L THRR R 8 4 Mo % | smidcs | BRotiE4 o R | Ak | R4 Ko %0 | tmdscd | BRoEE4 | R B | dmAkc | BBRSEIN | BRGEIER | R % | ImAKOK
Vo AL A Mt 3,180 4 Ml 1000f B Mg 40000 oo i 150) W i n s 1000
KoikTRTi A RiAT 1,950 e R 800 e N 200
W EAETTE fE5iad 1,800
AR twEETIE )& 1,750 g€ 7 I 75 )1 200
11,600 /N 8,650 A E L 2,000 A 700 A E 150 D 100
SCERTILER S LIBT3 (2,9504%) - LA ET - (3,7504%)

SPUAT ILIERITALHT & (4,90040)
org

SR
[

FER =] H T2

< KILRTE (2,95040)
1 TENE BRIE EAIETT, (L
SR K = PERO KR Ete,  \LIH AR = ST TSR A D M X 2 Bk,
- B (L3 = FERR O Kk B,
<L E RS = CTTRT B, (LSRR

g H .

-H MDA T,

-5 B BTE (1,8004%)

PEJITETE(1,9504%)

fiH - PERRDETE, AT

BT A=A - E H O R

- BeoCFEL =

7)1 BT 2 Hedh,

NEEte, -HIA

<RI =

ARl =FE T =

HLTF TR R R 4 DX 2 B R

IRHIX 2B e,

LIBTRTER  ILUBTHTAE 57—
T990-0039 |\LFFTHEEATL—20—8
T 023 (616) 3650 fax 023 (616) 3651




